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1. Which following symptom is NOT included in Fried’s frailty

phenotype?

(A) Weight loss

(B) Weakness (low handgrip strength)

(C) Exhaustion

(D) Depression

(E) Low physical activity

2. Compared with control group, which following statement about

the patient navigators for transition care of heart failure is NOT

true?

(A) Patient navigator group had higher cardiac rehabilitation

enrollment.

(B) Patient navigator group had lower hospital-based utilization.

(C) Young patient (< 60 years old) in the patient navigator group

had lower readmission rate.

(D) Patient navigator group had lower health care cost.

(E) Overall rate of readmission was similar in the two groups.

3. Reviewing the diagnostic test accuracy of physical examination

tests in suspected patellofemoral osteoarthritis case, which test is

most accurate?

(A) Crepitus sign

(B) Pain during activities

(C) Joint compression test

(D) Pain going up stairs

(E) Difficulty descending stairs

4. When elderly patients require surgical procedures on their heart

valves and/or coronary arteries, which following parameter is

associated with increased post-operative complications?

(A) Arterial hypertension

(B) Mini-mental State Examination

(C) Edmonton Frail Scale

(D) Society of Thoracic Surgeons (STS) scores

(E) All above

5. The probability of mortality increases in patients above 85 years

of age who developed acute kidney injury in intensive care unit.

Which following parameter has negative impact on the mortality?

(A) Increase in sequential organ failure assessment score

(B) Increase in ventilator workload

(C) Increase in serum lactate level

(D) Increase in body mass index

(E) Need for hemodialysis
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1. (D)

2. (F)

3. (F)

4. (D)

5. (D)
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